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Total No. of Printed Pages: 4 

SUBJECT CODE NO: - CA-1646 

FACULTY OF HUMANITIES 

B.A. F.Y. (Sem-I) 

Examination December/January 2023 

Economics – II (Compulsory) Macro Economy 

[Time: 1:30 Hours] [Max.Marks:40] 

“Please check whether you have got the right question paper.” 

 

N.B. 1. All Question are compulsory. 

2. Use blue or black pen only. 

3. Use pencil for diagram. 

4. Use of any signs, attracting attentions is prohibited. 

 

१. सर्व प्रश्न सोडवर्णे आर्श्यक आहे. 

२. फक्त वनळ्या वकिं र्ा काळ्या पेनचाच र्ापर करार्ा. 

३. आकृत्ािंसाठी पेन्सीलचा र्ापर करार्ा. 

४. कोणतेही लक्षरे्धक र् सािंकेवतक खूण करण्यास प्रवतबिंध आहे. 

 

Q.1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

A) Answer multiple choice question. (Attempt all) 

1. The first National income calculation on a scientific basis in India is in the year. 

(a) 1947-48 

(b) 1951-52 

(c) 1931-32 

(d) 1990-91 

2. Supply creates its own demand is the Law of ______. 

(a) J.  B. Say 

(b) J. M. Keynes 

(c) Jon Robins 

(d) Adm Smith 

3. Which among the following is not a feature of Keynesian theory? 

(a) Short run 

(b) Wage price flexibility 

(c) Fiscal policy 

(d) Under employment equilibrium 

4. In a closed economy, ______ is not included. 

(a) Households 

(b) Firm 

(c) Government 

(d) Foreign sector 
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प्र.१ 

5. The word macro was first used in Economics by :- 

(a) Keynes 

(b) Marshall 

(c) Ragnar Frisch 

(d) J. R. Hicks 

 

खालील बहुपयावयी प्रश्न सोडर्ा. (सर्व अवनर्ायव) 

१. भारतात रै्ज्ञावनक आधारार्र प्रथम राष्ट्र ीय उत्पन्नाची गणना ______ या र्र्ावपासून केली जाते. 

अ) १९४७-४८ 

ब) १९५१-५२ 

क) १९३१-३२ 

ड) १९९०-९१ 

२. ‘प्रते्क पुरर्ठा स्वतः ची मागणी वनमावण करतो’ हा वनयम ______ यािंचा आहे. 

अ) जे. बी. से. 

ब) जे. एम. केन्स 

क) जॉन रॉबीन्स 

ड) अॅडम स्मिथ 

३. खालील पैकी कोणते केन्स वसद्धातािंचे रै्विषे्ट् नाही. 

अ) अल्पकाळ 

ब) रे्तन मूल्य लर्वचकता 

क) राजकोर्ीय धोरण 

ड) अल्परोजगारात समतोल 

४. बिंविस्त अथवव्यर्स्थेतील ______ चा समारे्ि होत नाही. 

अ) घरगुती व्यर्हार 

ब) पेढी 

क) सरकार 

ड) वर्िेिी के्षत्र 

५. स्थूल हा िब्द सर्वप्रथम अथविास्त्रात यािंनी उपयोगात आणला. 

अ) केन्स 

ब) मािवल 

क) रॅग्नर फ्रीश्च 

ड) जे. आर. वहक्स 
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 B) 

 

 

 

 

 

 

ब) 

Answer in a sentence. (Attempt all) 

1. Which book in 1933 written by Kensian? 

2. What is mean by Per Capita Income? 

3. What is the effective Demand? 

4. What is mean by Marginal efficiency of capital? 

5. What is mean by Accelerator? 

 

एका र्ाक्यात उत्तरे वलहा. (सर्व अवनर्ायव) 

१. केन्स यािंनी १९३३ मधे्य कोणता ग्रिंथ वलवहला? 

२. िरडोई उत्पन्न म्हणजे काय? 

३. प्रभार्ी मागणी म्हणजे काय? 

४. भािंडर्लाची सीमािंत लाभक्षमता म्हणजे काय? 

५. प्ररे्ग म्हणजे काय? 

 

05 

Q.2 

 

 

 

 

 

 

प्र.२ 

 Explain Concept / Terms / Units / Events (any two) 

(word limitation minimum 60 for each answer) 

1. Investment Function 

2. Per Capita Income 

3. Effective Demand 

4. Dynamic Economy 

 

सिंकल्पना / सिंज्ञा / घटक / घटना स्पष्ट् करा. (कोणतेही िोन) 

(प्रते्क प्रश्नास वकमान ६० िब्द मयाविा) 

१. गुिंतर्णूक फलन 

२. िरडोई उत्पन्न 

३. प्रभार्ी मागणी 

४. गवतविल अथवव्यर्स्था 

 

10 

Q.3 

 

 

 

 

 

 

प्र.३ 

 Attempt answer in short (any two) 

(word limitation minimum 60 for each answer) 

1. Factors affecting marginal efficiency of capital 

2. Keynes’s criticism on Classical Approach 

3. Explain the Nature of Macro Economics 

4. State the Aggregate Expenditure Method 

 

थोडक्यात उत्तरे वलहा (कोणतेही िोन) 

(प्रते्क प्रश्नास वकमान ६० िब्द मयाविा) 

१. भािंडर्लाची सीमािंत लाभक्षमता प्रभावर्त करणारे घटक. 

10 
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२. केन्स यािंचे सनातनर्ािी दृष्ट्ीकोनार्रील आके्षप. 

३. स्थूल अथविास्त्राचे स्वरूप स्पष्ट् करा. 

४. एकूण खचव पद्धती सािंगा. 

 

Q.4 

 

 

 

 

 

प्र.४ 

 Answer in Detail (any one) 

(word limitation minimum 200 for each answer) 

1. Explain the Psychological Law of consumption presented by Keynes. 

2. What is the National income? Explain the difficulties in the measurement of National 

income. 

 

सवर्स्तर उत्तर वलहा. (कोणतेही एक) 

(प्रते्क प्रश्नास वकमान २०० िब्द मयाविा) 

१. केन्स यािंनी मािंडलेला उपभोगाचा मानसिास्त्रीय वसद्धािंत स्पष्ट् करा. 

२. राष्ट्र ीय उत्पन्न म्हणजे काय? राष्ट्र ीय उत्पन्नाच्या मापनातील अडथळे स्पष्ट् करा. 
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